R:AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4221.dwg, TX-4221

Endura

PR ODUCTS, I

8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R413 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions) subject to the following conditions:

1.

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subjec’r to further englneenng

* analysis.
TABLE OF CONTENTS
SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Door panel details {lip lite insert glazing)
3 Slidelte panel details {lip lite insert glazing)
4 Horizontal cross sections
5 Vertical cross sections
6 Vertical cross sections
7 Frame anchoring

112.19" MAX. OVERALL

233
7

EEVRNR LY
£ 0F

e

x‘\.\ A L‘u_ 1
ik

FRAME WIDTH

81.69" MAX. OVERALL
FRAME HEIGHT {INSWING)

80.88" MAX. OVERALL
FRAME HEIGHT (OUTSWING)

OX0

INSWING

+30.0

-35.0

OUTSWING

+35.0

-35.0

ui

o

23 2o

Eu— ’éj) il

.:ih a 1l 0O

O, ) Zz-

ol 9w 87

h:n. _ﬁ'o\) i b

4 p.5 2>

(<] .

: 23«» 53

= E0 X
> 43¢ Ok
a>n g%
z Aad
< 38" g
5‘ ONg D‘E
o xz

° O L

e ch O%

g dg5 2

¢ 3o 2k

o 08

oe

:

5 E

2 [N

P i

3

(43

[+

s}

%)
= [
S2
wy
&
&
3
g BT
3 |fs°
Z 2 5y
ol
<

B O]
x =0

3 ol &o

a - &ty

o) ¢ g

1’

& &
(/)U)>_
51|
[%5]

a
~
£
0=
29 |
=l =
25 2
2|5 (@2
7 o I
=10 1]
Q| |X
alx
<<
alo
Tov by
ala
ala
<<
00|«
N/
MRS
QURLYS
O}~
—lo
NI =

oate: 9/06/12

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4221

sHEeT 1 ofF 7




—— 12—

175" —]

f

Z HINGE STILE

(POPLAR)

35.75" MAX.
PANEL WIDTH

21.0" MAX
D.L.O. WIDTH

79" MAX. DOCR

PANEL HEIGHT
63.0" MAX
D.L.O. HEIGHT

STEVES & SONS
Insert glazed

(steel)

INTERIOR Gl - e
EXTERIOR
12' LONG
LOCK BLOCK
(PINE)
/"1 "\ HORIZONTAL CROSS SECTION
#6 X 1-1/2" PH SMS
GLASS BITE7/16"
INTERIOR *]
,f 172" NOMINAL GLASS THK.
R 1/8" TEMPERED GLASS
‘/ AR SPACE

-
~~1/8" TEMPERED GLASS

¥/

1

STEEL SPACER
EXTERIOR Q'SO SEALANT
LOW TACK SEALANT

GLAZING DETAIL
Lip Lite Insert Glazing {RSL}

G1

-~ 175" =
TOP RAIL
(POPLAR) SN |
~
FOAM CORE
(POLYSTYRENET\
INTERIOR EXTERIOR

STEEL SKIN
(0.020" MIN.
THICKNESS)

SR

BOTIOM RAILL —— " 1

PN FR—— &

] :

S|==[

@ VERTICAL CROSS SECTION
2

EPES PRI AEIRAREBEDEINS

LYNDON £ SCHMID

sngres
‘Y

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33585
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

ENDURA
DOOR_PANEL DETAILS
(LIP LITE INSERT GLAZING)

PRODUCT:

LFS | PART OR ASSEMBLY:

LFS
8Y

8/28/18 |ADDED ADDITIONAL THRESHOLDS
1/09/14 |ADDED ARTICULATING SILL

NOJ| DATE

2
1

oaTE: 9/06/12

scatt:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4221

SHEET 2 OF 7

RAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4221.dwg, 2.3

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS INC.



—— 12" =

~—1.75" ——

/

Z STILE

(POPLAR)

35.75" MAX.

PANEL WIDTH

21.0" MAX |

D.LO. WIDTH E
3

79" MAX. DOOR

PANEL HEIGHT
63.0" MAX
D.L.O. HEIGHT

<

STEVES & SONS

Insert glazed
(steel)

INTERIOR Gl

- 12"~

1
i
/-
7

EXTERIOR

@ HORIZONTAL CROSS SECTION
3

#6 X 1-1/2" PH SMS$

INTERIOR

Iz

A A

o et

Nl 1 HTEIE 11117171 ]

AIR SPACE

1/8" TEMPERED GLASS
~

™~ 1/8" TEMPERED GLASS

STEEL SPACER
Q'SO SEALANT

EXTERIOR
LOW TACK SEALANT

GI GLAZING DETAIL
Lip Lite Insert Glazing {RSL)

ﬁ] GLASS BITE7/16"
———1/2" NOMINAL GLASS THK.

— 175" ]
TOP RAIL
(POPLAR) B R
~
~
FOAM CORE
(POLYSTYRENE)
INTERIOR EXTERIOR

[g@z@ HITHH)
STEEL SKIN Al
(0.020" MIN.
THICKNESS)
oSe2e®
BOTTOM RAIL ———1 |
PN T ]
= _—
S|=|=

/"2 VERTICAL CROSS SECTION

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Vairico FL. 33585
CERTIFICATE OF REGISTRATION # F—-11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA
SIDELITE PANEL DETAILS
(LIP LITE INSERT GLAZING)

PRODUCT:

LFS | PART OR ASSEMBLY:

LFS
B

8/28/18 |ADDED ADDITIONAL THRESHOLDS
1/09/14 |ADDED ARTICULATING SILL

2

-

NO.| DATE

oaTE: 9/06/12

SCALE:  N.T.S.

\3/

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4221

SHEET 3 oF 7

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4221.dwg, 3.3

REVISIONS

© zo12 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4221.dwg, 4.3

N 1 ué
O SO N -+ 2
5 5 DRI S B |
S, IG5, 2% 6. zZ-
SIDELITE PANEL / EXT.SHEATHING | 27 A ie ¢ g NEEEEEREN
20 PmiiuiT Zizglelv LG5
> > EXTERIOR gut U oizie GaXdeied #0537
B — oz, 01T WSAT|EE z8g 83
/ / / e G, 91 . {(,,ﬁ >3 H5¢ 0E
/ / / Uk i S ot 3 g>19 ﬁé
// // / Ui | RS 295 bb
/ / ~ e 8R8. o
/ / / N & ohs ol
g z 8 f 5w
TN | 2X FRAMING g 9458 g
3 S (G >=0.42) g FoLf gk
ﬁ\ - @ = 4/ #8 X 2.5" COURSE THREAD _/ . § 8
\4/ o) DRYWALL SCREW H E
O X (SEE NOTE 1) E RS
NPl / g
\ o
OF—i I DEADBOLT: KWIKSET SIGNATURE SERIES
/ / ] (980/985) INTERIOR
/// /// /// - LATCH: KWIKSET SIGNATURE SERIES \
/ / / " =
#10X 2.5" PFH s
1/4" MAX. WOOD SCREW s |.E6
SHIM SPACE 2 |7 v
q & |3l EQ
b b q CORNER PADS (TYP.) & Ig
1"\ HORIZONTAL CROSS SECTION & o
5 /ﬁ /1\ m 4 w Qutswing shown - Inswing also approved é ;
NNV JIE:
S
0-75“ -—t‘—.—t |t ]_5" pE—— e
#8 X 3/4" PFH SMS 4 HINGE ATCH STRIKE PLATE 8
O
X #8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS DOOR PANEL é -
x|
SIDELITE PANEL /- #8X 2-1/2" PEH WS Elo| 2
F 3 ,_Z_ O
- = )
3 -~ 3 53 =
< N < A P E 2| |
. o Z _ E1ES
~y
/ . ~ alg
Q0
%‘ %,, 22
) | ENDURA WEATHERSTRIP _/ N 0w
DRYWSALL S(C)Rg\]N DOOR PANEL \ SIDELITE PANEL 5 g g
——] 125" | 25 (SEENOTE 1) #8 X 2.5" COURSE THREAD o=
DRYWALL SCREW — Nl
JAMB / HEAD FATBOY MULLION / (SEE NOTE 1) = 505/15
PINE PINE . ATE:
4-3/8" FATBOY PINE MULLION —/ o NTS
DWG. BY: JK
N 4-3/8" FATBOY PINE MULLION p—
. HORIZONTAL CROSS SECTION il
NOTE: (4 Outswing shown- nswing i approvec (3" HORIZONTAL CROSS SECTION o s

1. Spacing for sidelite screws: 6.5", 38.5"

and 69" from head fo sill {3 total).

w Outswing shown - Inswing also approved

SHEET 4 oF 7

© 2012 R.W. BUILDING CONBULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4221.dwg, 5.3

EXT. SHEATHING \

1/4" MAX.

SHIMSPACE |

2X FRAMING
> (G>=042)
-

o / DRYWALL

- L #ox25 P
-1 WoOD screw

DOOR PANEL —-\

0.15"
C'SINK
(TYP.)

\—* HEAD

ui

ENDURA WEATHERSTRIP
{QEBD/PE 650)
EXTERIOR W INTERIOR
/1 "\ VERTICAL CROSS SECTION

w Outswing shown - Inswing also approved

2X FRAMING
(G >=0.42)

DRYWALL —\ i

1/4" MAX.

SHIMSPACE |-~

SIDELITE PANEL —\

#8 X 2.5" COURSE THREAD ;
DRYWALL SCREW ——
(SEE NOTE 1)

INTERIOR

a
&

0.15"
C'SINK

1/

I

\—‘ HEAD

EXTERIOR

7“2\ VERTICAL CROSS SECTION

w Inswing shown - OQutswing also approved

A i
EOR

“u"‘xm\x\\‘olll

NOTE:
Spacing for sidelite screws:
&' from each end (2 total).

1.

| / EXT. SHEATHING
it

IAl— #10x 25" PFH
|l  WOOD SCREW

W,

o o

-

83 4

Ev— g 1

£* o Z

(I)uz Om [<]

w £ N @&
.do

£ b

3 8 a

£ 2<o ©

> 450 U
A>0 @
Zowm
o™ e

5‘ ON; g
O XZ

b -] ) [T

4 Zmo O

g 2552
50

2 <

& an g

- ;_)E ®

Ll

<

[:]

E g

3 eg

o

o

a

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

LFS
Y

8/28/18 |ADDED ADDITIONAL THRESHOLDS
1/09/14 |ADDED ARTICULATING SILL

2
1

NOJ DATE

REVISIONS

oatE: 9/06/12

SCAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4221

SHEET 5 oF 7

© zo12 R.W. BUILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4221.dwg, 6.3

ENDURA
th?E'f DOOR SWEEP
(DBK-R)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 VERTICAL CROSS SECTION
W Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEE NOTE 1)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"4 \ VERTICAL CROSS SECTION

A ENDURA ENDURA WEATHERSTRIP
DOOR~ | DOOR SWEEP _ )
PANEL ) oo

(DBK-ZAC)
/ / PANEL
77200000
7 EXTERIOR INTERIOR EXTERIOR
INTERIOR
" NOTE:
#10X2.5" PPH WOOD SCREW OR E Spacing for sidelite screws:

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"2 "\ VERTICAL CROSS SECTION
w Inswing Articulating Threshold

1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/"3 "\ VERTICAL CROSS SECTION
\U Outswing Bump Threshold

SIDELITE 7

PANEL\

#8 X 2.5" COURSE THREAD —— LB AT] Ig‘fg)‘?
TS DRYWALL SCREW ) i ]
NN (SEE NOTE 1) ////////a

& EXTERIOR

#10 X 3" PFH WOOD SCREW OR
1/4"X 3-1/4" ELCO OR [TW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

w Inswing configuration W Outswing configuration
- 456 ——] b= 456' | | 456" | ! 456' ! f 456" |
1 INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD @ INSWING ADJUSTABLE THRESHOLD
ZAIL4565 2 1AI4565FN IAILAA4565 IAIAA4565FN ZAI4565RDS

INSWING ARTICULATING THRESHOLD

6 IACL4565

&" from each end (2 fotal).

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA

PRODUCT:

LFS | PART OR_ASSEMBLY:
F
BY

| 456" | [ 456" | b 456" ! : 456" |
7 INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
ZACA4565RDS

LACLAA4565 ZACAA4565FN

ZAC4565FN

% &
bl 4.56" | Sy | 1 . |
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD
ZOBL4565 1OB4565FN ZOB4565RDS

8/28/18 ADDED ADDITIONAL THRESHOLDS
1/09/14 |ADDED ARTICULATING SILL

NO.| DATE

2
1

REVISIONS

DATE: 9/06/12

ScALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4221

SHEET 6 ofF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 607\Drawings\2018 - REV 2\TX-4221.dwg, 7.3

o 2X framing (by others) 0«.%‘-:‘}:‘}11 Ny ]
Zu SR T o
562 FPeig 32, En
Eag 3 gar iz £ B 4k
2= 3 \ = (mp) Al S by ¢85y
S ¥e) r & o o Sab 8y
T‘* (1Y) ! i Yen i8I R
] T T T T T 1 Ui 191 5 5@ ak
SEEHINGE —__ ||| ‘\_ 177 - U 15 S g on U
DETAIL 1 e [ #10X 2.5" PFH DETAIL 1 DETAL 1 = M adanee® 5 88. g
] WOOD SCREW Sy g < s 232 ,°
& (TYP. @ HEAD | > oo § §%g 726
o AND JAMBS) 573 s 9%z
1 11 8 2 . LE 8¢
i O € e
1€ ‘ : * P R g8
pas S ﬁ 8
SEE HINGE NIV
DETAIL 2 SEESRKE f o
. DETAIL =
[\ - | < S
tH DETAL 1 =\ DETAIL 1 E |,
/ . 2 gl =
I INI g (W L b o w
k-4 1 L] A 3 il nl =
Ny 0} <
%A 2 o &
4" (TYP o &
(WP) =1 | = #10 X 2.5" PFH WOOD SCREW 3 e
2'(TYP) — f=— 1/4" X 2-3/4' ELCO OR & g
l P A\ a o
HINGE JAMB FLOOR SUBSTRATE MATERIAL {TYP.) ¢ T CONARETE SCREW STRIKE JAMB
LLUAALE fallild CONCRETE (MIN. 3000 PSI) (TYP @ SILL) 0|l
WOOD (G >=0.42) FRAME ANCHORING ]
[6)(e]
ANS! DEADBOLT 8
STRIKE PLATE Q
]
#8 X 3" COURSE DRYWALL SCREW #10 X 3" PFH WS (4) — %“ n "
_ Zlo
] JE B
25| 12
#8X 2-1/2" PFH WS (2) 53| |5
TS T LATCH STRIE S
S PLATE S|z
w 218
CONCRETE ANCHORNOTES: - » . DETAIL1 A ’ | STRIKE DETAIL EE
1. Concrete anchor locations at the corners may be adjusfed to maintain the min. Integral mullion attachment —_— ; :
edge distance to mortar joints. NN
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusfed fo xlgl
maintain the min. edge distance fo mortar joints, additional concrete anchors NNE
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. N #8 X 2-1/2" PFH WS A\ ) S
3. Concrete anchor table: // P #8 X 2-1/2" PFH WS N==
: r— é, ] 0< R a,/ oaTE: 9/06/12
e |{le n :
#8X1"PFHWS <o | o : . ZEoH scae: N.T.S.
"EDGE e Hjet— #8X3/4'PFHWS #BXT"PFHWS <o [1) elF=t~ 48X 3/4' PFH WS owe, 5 UK
mw N u " " ~— 4" X 4" HINGE "~ 4" X 4" HINGE — Fs
TAPCON® 1/ 1-3/ 2-1/2 8 \{ \1 DRAWING NO.:
ELCO . . . " TX—4221
urRacoN®|  V/ 1-3/ ’ 3 HINGE DETAIL 1 HINGE DETAIL 2 p——l

@ 20312 R.W. BUILDING CONSULTANTS INC.




